JCPSICE-2017 Set 05

Topic:- Set05_GS

1) Which Indian state has been conferred the award of excellence at the 2"4 Global Skill
Development Summit (GSDM - 2017)?

fgfta iaa f*pra Sgaudc Iffie 2017 A € @S 3T TRl 5 YRdT 3T 3 fHrer?
[Question ID = 279398]

1. Lucknow / @3 [Option ID = 1079403]

2. Uttar Pradesh / 3TR UG [Option ID = 1079404]
3. Tamilnadu / AAETE [Option ID = 1079405]

4, Uttarakhand / 3TRRES [Option ID = 1079406]

Correct Answer :-
o Uttarakhand / 3TRIES [Option ID = 1079406]

2) Which country hosted the 12t edition of G20 summit in July 2017?

IRES St 20 Afte T A Jars 2017 B forw 3=7 A game
[Question ID = 279399]

1. France / %19 [Option ID = 1079407]

2. Germany / ST [Option ID = 1079408]
3. China / I [Option ID = 1079409]

4. India / 3741 [Option ID = 1079410]

Correct Answer :-
. Germany/Gl'lﬁT [Option ID = 1079408]

3) Which of the following cities has been designated as the UNESCO World Book Capital 2019?

fFafafaa 7 @ fea R 3 2019 & 1T UNESCO 7 9@ §& $ilea & v & Tifta frar @2
[Question ID = 279400]

1. Athens / T3 [Option ID = 1079411]

2. London / ©& [Option ID = 1079412]

3. Pune / Q0T [Option ID = 1079413]

4. Sharjah / IRWITE [Option ID = 1079414]

Correct Answer :-
» Sharjah / RIRSITE [Option ID = 1079414]



4) Which of the following National Park is located in Uttar Pradesh?

Frafaf@a ¥ 3 $19 a1 A urd I v | fRua 32
[Question ID = 279401]

1. Anamudi Shola National Park / 3FTI&! ]NAT ARMd UTeh [Option ID = 1079415]
2. Dudhwa National Park / g¥dT ERERICY [Option ID = 1079416]

3. Bandipur National Park / STEIqR SIMd UTé [Option ID = 1079417]

4. Balphakram National Park / TAYSHIH AT UTh [Option ID = 1079418]

Correct Answer :-
» Dudhwa National Park / gWﬁWW [Option ID = 1079416]

5) In which city India’s biggest Global Skill Park will be set up?

5T TER A URT FT IS JST TWigd fRpd Urh IHm?
[Question ID = 279402]

1. Patna / UcHT [Option ID = 1079419]
2. Mathura / BYRT [Option ID = 1079420]
3. Delhi / facil [Option ID = 1079421]
4. Bhopal / NIl [Option ID = 1079422]

Correct Answer :-
« Bhopal / HGTd [Option ID = 1079422]

6) The Bharat Heavy Electricals Limited has signed pact with firm Kawasaki Heavy Industries Ltd
(KHI) to make steel metro coaches, is from which country?

W A & B 991 & e YRl v 24t safeeee s 7 samme 34 $ew fafes & oy =R
foar & Huf fpg I F1 72

[Question ID = 279403]

1. America / 3ART [Option ID = 1079423]
2. Australia / 3RSerIT [Option ID = 1079424]
3. Japan / SITUTH [Option ID = 1079425]

4. Germany / SH [Option ID = 1079426]

Correct Answer :-
e Japan / SITUIF [Option ID = 1079425]

7) The 2017 National Statistics Day theme is:-

2017 3TN 3T faw @t fiw w1 32
[Question ID = 279404]

1. Administrative Statistics / TSflfRefea fefeadd [Option ID = 1079427]



2. Trees and their calculative lives / €19 T8 QIR Wﬁﬁa ¢lgod [Option ID = 1079428]
3. Agriculture and Farmers’ Welfare / TR U8 HIHY dJdWBIR [Option ID = 1079429]
4. Human empowerment / WQTCI'IE@E’ [Option ID = 1079430]

Correct Answer :-

« Administrative Statistics / TefHFRefca wfefRead [Option ID = 1079427]

8) Which of the following is not a city of Nepal?

$TH | DI A1 AUTA HT HIS e 161 82
[Question ID = 279405]

1. Lalitpur / dfeidqR [Option ID = 1079431]

2. Barisal / SR¥d [Option ID = 1079432]

3. Kathmandu / ST&HTg [Option ID = 1079433]
4. Biratnagar / IEEGRUR [Option ID = 1079434]

Correct Answer :-
« Barisal / 9 [Option ID = 1079432]

9) Which Indian sportsperson will be conferred with the best Sportsperson of the Year Award by the
Sports Journalists Federation of India (SJFI)?

W THfoed e AT 31 frw U faeret &t wid w=i= 8ifw g % &7 3rars il
[Question ID = 279406]

1. Sania Mirza / SRR [Option ID = 1079435]
2. PV Sindhu / Ut st R [Option ID = 1079436]
3. Jitu Rai / Siiq| I [Option ID = 1079437]

4. Virat Kohli / faxTe ®Igdll [Option ID = 1079438]

Correct Answer :-
« PV Sindhu / G &t ¢ [Option ID = 1079436]

10) Who is the first Indian woman to climb Mount Everest from the China side on May 2017?

e URdig afgar A ade tave ot 99 91gs 4 9ers i 32
[Question ID = 279407]

1. Anita Kundu / 3{IdT g [Option ID = 1079439]

2. Radhika GR / X1TT St 3R [Option ID = 1079440]

3. Anshu Jamsenpa / %Gﬂ@m [Option ID = 1079441]
4. Arunima Sinha / 31TOTAT R8T [Option ID = 1079442]

Correct Answer :-
« Anita Kundu / 3{tdl §g [Option ID = 1079439]



11) Among the following what is the theme for World Environment Day (WED) 2017?

7 A A 11 W 9 THarRAdHe S @) fawgasg @2
[Question ID = 279408]

1. Connecting People to Nature / S-fdc?T UIqd g =R [Option ID = 1079443]

2. Green Economy: Does it include you? / ¥iF S®i-1H! : Dose it s g ? [Option ID = 1079444]
3. Raise Your Voice Not the Sea Level /iTrr R T:ﬁ%ﬂ dic g T daa [Option ID = 1079445]

4. Think.Eat. Save / fi& e . ¥9 [Option ID = 1079446]

Correct Answer :-
« Connecting People to Nature / ®+faetT YIqd € == [Option ID = 1079443]

12) World tobacco day is observed on which of the following days?

g darg o forvy fa=r wima wiram 32
[Question ID = 279409]

1. 315t March / 315t Af [Option ID = 1079447]

2. 315 October / 315t 3{dgsR [Option ID = 1079448]
3. 15t May / 15t {1 [Option ID = 1079449]

4, 315t May / 31t {1 [Option ID = 1079450]

Correct Answer :-
« 315t May / 315t §E [Option ID = 1079450]

13) In the year 2001 World Trade centre was hit by two aircrafts in which city?

2001 T 93 ¢S Jex DI ¢l TRPpIIEH A 5 x| fae fomam U2
[Question ID = 279410]

1. Buffello / §bal [Option ID = 1079451]

2. Washington / @IfRRTe [Option ID = 1079452]
3. New jersey / T3 ST [Option ID = 1079453]
4. New York / =gdi% [Option ID = 1079454]

Correct Answer :-
« New York / =ggr& [Option ID = 1079454]

14) Sher Bahadur Deuba has been appointed as the Prime Minister of which of the following
countries?

3R F8TgY ¢3a1 &I Frafafaa 3 J 5 desh &1 wearrwHt s=man war 32
[Question ID = 279411]

1. Nepal / Jurd [Option ID = 1079455]
2. India / f&d1 [Option ID = 1079456]



3. America / 3T [Option ID = 1079457]
4. China / 91 [Option ID = 1079458]

Correct Answer :-
« Nepal / 99Td [Option ID = 1079455]

15) Swachh Bharat Abhiyan was launched on:-

WP YR A= o9 | foar mare

[Question ID = 279412]

1. 2" October 2014 / 2™ 3fagaR 2014 [Option ID = 1079459]
2. 2" October 2015 / 2" 3SR 2015 [Option ID = 1079460]
3. 26t January 2015 / 26™ S3RT 2015 [Option ID = 1079461]
4. 15t August 2014 / 15t 3R 2014 [Option ID = 1079462]

Correct Answer :-
« 2Md October 2014 / 2nd 3{dcaR 2014 [Option ID = 1079459]

16) India’s smallest state by area is:-

YRT BT TG BIeT 59 §T6d & IR S AT 82
[Question ID = 279413]

1. Sikkim / ffa®H [Option ID = 1079463]

2. Mizoram / fiSIRH [Option ID = 1079464]
3. Nagaland / FFTIGS [Option ID = 1079465]
4. Goa / TIiaT [Option ID = 1079466]

Correct Answer :-
e Goa/ mar [Option ID = 1079466]

17) Insider trading is related to:-

TS S ofeT e Raes @2
[Question ID = 279414]

1. public expenditure / GfsT® TRTUTSTR [Option ID = 1079467]
2. taxation / TR [Option ID = 1079468]

3. horse — racing / 819 — IRAT [Option ID = 1079469]

4, share market / TR Hifbe [Option ID = 1079470]

Correct Answer :-
o share market / MR Alfbe [Option ID = 1079470]



Which Union Territory is spread across three states?

P 91 g WY U i T4} d Har g2
[Question ID = 279415]

1. Chandigarh / El@ﬂ"l’d [Option ID = 1079471]

2. Pondicherry / Tifga_t [Option ID = 1079472]

3. Dadra Nagar & Haveli / GIGRT TR & §4ddl [Option ID = 1079473]
4. Daman & Diu / G5 & f&3 [Option ID = 1079474]

Correct Answer :-
« Pondicherry / Ui SR [Option ID = 1079472]

19) The current age of retirement for High Court Judges is:-

JAHT A I AT & ST6ll P ICIARATE IY AT 22
[Question ID = 279416]

1. 62 years / 62 @ [Option ID = 1079475]
2. 58 years / 58 9 [Option ID = 1079476]
3. 60 years / 60 9% [Option ID = 1079477]
4. 61 years / 61 I [Option ID = 1079478]

Correct Answer :-
« 62 years / 62 @S [Option ID = 1079475]

20) Who among the following is entitled to appoint Chairman of Union Public Service Commission?

g faf@a # ¥ #19 UPSC ¥ FTRAA BT I99 AT 82
[Question ID = 279417]

1. Governor / IR [Option ID = 1079479]

2. President / UfSTS¢ [Option ID = 1079480]

3. central government / @I?;?TTIG:EI? [Option ID = 1079481]
4. Chairman / 9938 [Option ID = 1079482]

Correct Answer :-
« President / GfSiSe [Option ID = 1079480]

21) Tipu Sultan was the ruler of:-

&Y o™ BT AP UT:-
[Question ID = 279418]

1. Jodhpur / TR [Option ID = 1079483]

2. Hyderabad / §&X16TG [Option ID = 1079484]
3. Mysore / AR [Option ID = 1079485]

4. Vijayanagar / fdSiGTR [Option ID = 1079486]



Correct Answer :-
e Mysore / ﬁﬁ? [Option ID = 1079485]

22) Who was the first viceroy of India?

YR BT UgHT IERT DI 412
[Question ID = 279419]

1. Warren Hastings / @R+ 8f%¢™ [Option ID = 1079487]
2. Lord Curzon / @l @i [Option ID = 1079488]

3. Mountbatten / ATdcdeA [Option ID = 1079489]

4. Lord Irvin / @18 (A [Option ID = 1079490]

Correct Answer :-
» Warren Hastings / I ghe™ [Option ID = 1079487]

23) The Best astrologer of the world award 2017 has been conferred to:-

020 HT 9% Ifay 3ars fras! ffar
[Question ID = 279420]

1. Ganesha Bejan Daruwalla / ORI ST Grearal [Option ID = 1079491]
2. Rakesh Sharma / REZR] [Option ID = 1079492]

3. T'S Vneeth / & U9 aid [Option ID = 1079493]

4. Kalpna Chawla / &Yl d1ddl [Option ID = 1079494]

Correct Answer :-
« TS Vneeth / ¢ T aid [Option ID = 1079493]

24) Which Indo American has been appointed as new US Ambassador to Peru?

o URdg MYt ArR® &) U= A gATges ARM 3iTW AR®T $T Ieigd Hgad gan g ?
[Question ID = 279421]

1. Krishna R Urs / W 3R rREe] [Option ID = 1079495]

2. Geeta Pasi / 7idl URit [Option ID = 1079496]

3. Atul Keshap / 3{qd -9 [Option ID = 1079497]

4. Vinai Thummalapally / fd99 YFTaTIedT [Option ID = 1079498]

Correct Answer :-
» Krishna R Urs / T 3R I [Option ID = 1079495]

25) Among the following states where is Sri Venkateswara National Park located?

ft IpewaR AT TP P A A P g | AT 22

[Question ID = 279422]



1. Uttar Pradesh / 3<R U&XT [Option ID = 1079499]
2. Assam / 3H [Option ID = 1079500]

3. Gujrat / IJSIRTd [Option ID = 1079501]

4. Andhra Pradesh / 3ff$f TG®T [Option ID = 1079502]

Correct Answer :-
« Andhra Pradesh / 3fYf UG [Option ID = 1079502]

26) Who among the following is the new world champion in Chess?

e @ o9 @ e 99 &1 797 908 Afug= 22
[Question ID = 279423]

1. Michael Adams / ATghd TSH [Option ID = 1079503]
2. Magnus Carlsen / IIT{NW [Option ID = 1079504]
3. Carl SMITH / &Tdi f&74 [Option ID = 1079505]
4. Vikram Puri / fas8 Tt [Option ID = 1079506]

Correct Answer :-
e Magnus Carlsen /WW [Option ID = 1079504]

27) Fortune Hotels and Resorts is owned by which of the following companies?

B gied Us Ratdy A & @ e st &1 fewar g 2
[Question ID = 279424]

1. Oberai / 3{9RTT [Option ID = 1079507]

2. The Indian hotels / ¥ f&T glea [Option ID = 1079508]
3. ITC / 3SRt [Option ID = 1079509]

4. Taj / ST [Option ID = 1079510]

Correct Answer :-
e ITC/ 3 36‘ g [Option ID = 1079509]

28) In India, 15t Sept is observed as which Day amongst the following days?

YR ¥ 15 farar 3 fafeafaa & @ fed e & v & 991 & 82
[Question ID = 279425]

1. National Hindi Divas / 7_Md fée! faaq [Option ID = 1079511]
2. Blood donation day / &€ SHTH 3 [Option ID = 1079512]

3. Anti pollution day / T€t GITIRITT § [Option ID = 1079513]

4. Anti smoke day / Ut W& $ [Option ID = 1079514]

Correct Answer :-
« National Hindi Divas / 9=Md fgdl fda¥ [Option ID = 1079511]



29) Who is the brand ambassador of Tata Tiago?

eTeT fe 3t TSt F1 ¢S HID Ieigd B 872
[Question ID = 279426]

1. Ronaldo / IHTGST [Option ID = 1079515]

2. M S Dhoni / | 9 ¢! [Option ID = 1079516]

3. Lionel Messi / farsfi=@ A=t [Option ID = 1079517]
4. Virat Kohli / farTe ﬁ%?ﬂ [Option ID = 1079518]

Correct Answer :-
« Lionel Messi / fa13f@ AT [Option ID = 1079517]

30) G20 Hamburg summit held on 7—-8 July 2017, was in the city of

it 20 Bt RRER T 7-8 TS 2017 H e? § Smafora farar T AT
[Question ID = 279427]

1. Hamburg, Germany / 8%t STHHT [Option ID = 1079519]
2. Madrid, Spain / Af$8 ¥ [Option ID = 1079520]

3. Berlin, Germany / EINGASLE] [Option ID = 1079521]

4. Hanoi, Vietnam / B:ﬁ'scﬁfl?ﬂ'lﬂ [Option ID = 1079522]

Correct Answer :-
» Hamburg, Germany / el ST [Option ID = 1079519]

Topic:- Set05_GSci

1) indicates the wetness of a place due to amount of moisture in the atmosphere.

TaTaRoT § H! F AEAT & HROT TH S1TE B 8T BI §R1d BT §| [Question ID = 279899]

1. Rainfall / 98 [Option ID = 1081393]

2. Weather / Eenaee [Option ID = 1081394]

3. Temperature / dYHTT [Option ID = 1081395]
4. Humidity / =TT [Option ID = 1081396]

Correct Answer :-
e Humidity / CE| [Option ID = 1081396]

2) Fastest spinning planet of our solar system:-

BUR YR HSd BT 99 dSl HdTs Ug:- [Question ID = 279900]

1. Saturn / 4 U8 [Option ID = 1081397]
2. Jupiter / §gfd [Option ID = 1081398]
3. Earth / Gl [Option ID = 1081399]

4, Mars / H7Td U8 [Option ID = 1081400]

Correct Answer :-



« Jupiter / 85Ifd [Option ID = 1081398]

3) Basalt is an example of

AT T U IGIEUN ¢ | [Question ID = 279901]

1. Igneous Rocks / 3T URR [Option ID = 1081401]

2. Metamorphic rock / FQWR’_CTEI@? [Option ID = 1081402]
3. Granite / 8¢ [Option ID = 1081403]

4. Sedimentary / 3T A [Option ID = 1081404]

Correct Answer :-
« Igneous Rocks / 31THT TR [Option ID = 1081401]

4) Force which is created as a result of muscle contraction is

T S AR & TpT- F TRUTARGEY I94d1 8 39 Peai @ | [Question ID = 279902]

1. Magnetic force / W §d [Option ID = 1081405]

2. Muscular force / ueft 9@ [Option ID = 1081406]

3. Human Force / HIMd §d [Option ID = 1081407]

4. Gravitational Force / WWW [Option ID = 1081408]

Correct Answer :-
« Muscular force / U=ft & [Option ID = 1081406]

5) are negatively charged particles that surround the nucleus.

THRIHASD ARG HUT & SN P AP & IRY 3R U &I1d @ | [Question ID = 279903]

1. Protons / Wie™ [Option ID = 1081409]

2. Neutrons / Q@W [Option ID = 1081410]
3. Electrons / $didel9 [Option ID = 1081411]
4. Atom / TcH [Option ID = 1081412]

Correct Answer :-
« Electrons / 3@ [Option ID = 1081411]

6) Rocks formed from lava are called

GICIGEEEHE kD] PgI SIaT 8| [Question ID = 279904]

1. Igneous Rocks / 3T TR [Option ID = 1081413]

2. Sedimentary rocks / Wﬁﬂ%ﬁ [Option ID = 1081414]

3. Extrusive igneous rocks / 3 SR TS [Option ID = 1081415]
4. Metamorphic / Ftri?lﬁ_d%@:[ [Option ID = 1081416]

Correct Answer :-
» Extrusive igneous rocks / 39 3TRY &I [Option ID = 1081415]

7) Fire extinguishers are filled with gas.



T g a1l T 9 & WY 813 §| [Question ID = 279905]

1. Methane / HI24 [Option ID = 1081417]

2. Carbon Dioxide /W@%&Wﬁ_g [Option ID = 1081418]

3. Carbon momo oxide / HTe- AFISHGHIES [Option ID = 1081419]
4. Sodium Nitrate / HIf$Td A1$¢e [Option ID = 1081420]

Correct Answer :-
« Carbon Dioxide /W@I’s’%ﬁ‘s’ [Option ID = 1081418]

8) 0°C= [Question ID = 279906]

1. 30.2 °F [Option ID = 1081421]
2. 33.8 °F [Option ID = 1081422]
3. 32.0 °F [Option ID = 1081423]
4. 37.4 °F [Option ID = 1081424]

Correct Answer :-
e 32.0 °F [Option ID = 1081423]

9) Process of purifying water by heating and cooling:-

BT 3R HfefT Uit #) Y HIA Ft Ufshan:- [Question ID = 279907]

1. Refining / RWTET [Option ID = 1081425]
2. Metallurgy / W [Option ID = 1081426]
3. Pattinson process / ofea ufepan [Option ID = 1081427]
4, Distillation / 3{THd- [Option ID = 1081428]

Correct Answer :-
« Distillation / 3T¥d [Option ID = 1081428]

10) Auis the symbol for .

Au PT UdP &| [Question ID = 279908]

1. Silver / dicl [Option ID = 1081429]
2. Gold / F [Option ID = 1081430]
3. Iron / Q@IET [Option ID = 1081431]
4. Lead / WS [Option ID = 1081432]

Correct Answer :-
« Gold / T [Option ID = 1081430]

11) A device which converts sound waves into electrical signals

T® giaa ot @f T 3t fagaa ddal A aqadi @ | [Question ID = 279909]

1. Odometer / 3{ISIHIER [Option ID = 1081433]

2. Refractometer / RUpaeifieR [Option ID = 1081434]
3. Spectroscope / @Tﬁjﬁﬁq [Option ID = 1081435]
4. Microphone / HT3%ItIH [Option ID = 1081436]



Correct Answer :-
« Microphone / BECALIC [Option ID = 1081436]

12) is a unit of measuring of atmospheric pressure is.

__ Jigusdly ga1d &) UIUA 3 TS SPTS ¢ | [Question ID = 279910]

1. Ampere / TR [Option ID = 1081437]

2. Kelvin / &fed [Option ID = 1081438]

3. Hectopascal / 89€IURd [Option ID = 1081439]
4. Pound / GT'S [Option ID = 1081440]

Correct Answer :-
« Hectopascal / 89€IUR&d [Option ID = 1081439]

13) A device for measuring wind speed and direction is:-

ga1 31 T 3R fe=m AR & for e SUHRT 8:- [Question ID = 279911]

1. Aneroid Barometer / Qﬁﬂ%@;’ RHieR [Option ID = 1081441]
2. Hydrograph / BTISIUTH [Option ID = 1081442]

3. Anemometer / THTAIHIER [Option ID = 1081443]

4. Wind Vane / 91 Theleh [Option ID = 1081444]

Correct Answer :-
e Anemometer / Q:ﬂl:ilﬁ <X [Option ID = 1081443]

14) keeps the planets in motion in their respective orbits.

F PR TE 3T & & T 7fd W 78d 8| [Question ID = 279912]

1. Rotation and Density / AT 3R T [Option ID = 1081445]

2. Size and Spherical shape / 3T®R 3R MATHR MHR [Option ID = 1081446]

3. Rotation of the sun on its axis / 3T ¢*T TR YIST HT AT [Option ID = 1081447]

4. Gravitation and Centrifugal force / W‘STUT 3R FEIIRS [Option ID = 1081448]

Correct Answer :-

« Gravitation and Centrifugal force / TETHYUN 3R HXIUTRSD §d [Option ID = 1081448]

15) Graphite Pencil Lead is an example of bond.

W ofre s Y PT TP I&T80T 8| [Question ID = 279913]

1. Van der Waals / 919 SX dId [Option ID = 1081449]
2. Tonic / 3T [Option ID = 1081450]

3. Covalent / ®lddie [Option ID = 1081451]

4. Metallic / UTJ T [Option ID = 1081452]

Correct Answer :-
e Van der Waals / dTH SX dI® [Option ID = 1081449]

16)



Wool is a:-

ST % | [Question ID = 279914]

1. Polyamide / gifafirs [Option ID = 1081453]

2. Polymer / QfeTAR [Option ID = 1081454]

3. Natural Polyamide / <@ QTS [Option ID = 1081455]
4. Fiber / TR [Option ID = 1081456]

Correct Answer :-
« Natural Polyamide / TRA Uifafs [Option ID = 1081455]

17) Elements having same atomic number but different mass number are called

TP g1 URHTY] & a1d ded, Afp+1 i sowm st &t PEI SI1aT 8] [Question ID =
279915]

1. Isobar / 3TSHIER [Option ID = 1081457]

2. Isotopes / 3TEHICIS [Option ID = 1081458]
3. Atomic Numbers / TeTie o [Option ID = 1081459]
4. Nucleus / &9 [Option ID = 1081460]

Correct Answer :-
« Isobar / 3SR [Option ID = 1081457]

18) Turbine harness to convert it into electrical energy.

cafsa g & _ 3 fagud Suif ¥ 9ga1 &1 a1 81 [Question ID = 279916]

1. Machine Energy / = Sul [Option ID = 1081461]

2. Mechanical Energy / TifA® Sl [Option ID = 1081462]
3. Manual Energy / ﬁﬂaﬂﬁﬁ [Option ID = 1081463]

4. Motion Energy / 1Zﬁ'-‘ZF[12=|Trff[0ption ID = 1081464]

Correct Answer :-
» Mechanical Energy / i Sl [Option ID = 1081462]

19) is the simplest aromatic hydrocarbon.

v g SRS B

[Question ID = 279917]

1. C¢Hg [Option ID = 1081465]
2. C;Hg [Option ID = 1081466]
3. C4Hg [Option ID = 1081467]
4. CHy4 [Option ID = 1081468]

Correct Answer :-
e CgHg [Option ID = 1081465]



Lowest layer of atmosphere is called

IATaRYl B! fHaH URd &) BT ST 8| [Question ID = 279918]

1. Troposphere / TTARMBIIR [Option ID = 1081469]
2. Stratosphere / ICRWIR [Option ID = 1081470]
3. Mesosphere / TR TR [Option ID = 1081471]
4. Thermosphere / YHRBIR [Option ID = 1081472]

Correct Answer :-
« Troposphere / TTARWIAR [Option ID = 1081469]

Topic:- Set05_GSJ

1) Who among the following has been Chief Minister of Jharkhand from Jharkhand Mukti Morcha
(IMM)?

FRGS giea Aiaf (Sewed) I IRES &1 gt 3980 | S 82
[Question ID = 279458]

1. Hemant Soren / Hd TRA [Option ID = 1079644]

2. Babulal marandi / Wﬂﬂ?ﬁ [Option ID = 1079645]
3. Raghubar Das / YYdX & [Option ID = 1079646]

4. Arjun Munda / Gﬁj:lﬁ@’ﬂ [Option ID = 1079647]

Correct Answer :-
« Hemant Soren / gHd XX [Option ID = 1079644]

2) Who among the following is the longest serving Chief Minister of Jharkhand?
g & A P9 IRES BT I 79 GUG a6 GBTHAT 8T 82
[Question ID = 279459]

1. Babulal marandi / Wﬂﬂ?ﬁ [Option ID = 1079648]
2. Arjun Munda / &IT{I:IHET [Option ID = 1079649]

3. Shibhu Soren / 1§ RN [Option ID = 1079650]

4. Hemant Soren / Hd TRA [Option ID = 1079651]

Correct Answer :-
e Arjun Munda / 31\‘{[?&3‘[ [Option ID = 1079649]

3) Who among the following was appointed as the first Governor of Jharkhand in the year 2000?

fFrafafaa & ¥ o9 9 2000 ¥ sREs & vgd TsuuTa & Fu A frgaa fear mar un
[Question ID = 279460]

1. M. Rama Jois / TH 3T 939 [Option ID = 1079652]
2. V. C. Pande / d1.¥}. Ui [Option ID = 1079653]



3. Shri Prabhat Kumar / %ﬁqﬂ-ﬂﬁw [Option ID = 1079654]
4. Ved Marwah / 9¢ ARATE [Option ID = 1079655]

Correct Answer :-
« Shri Prabhat Kumar / 8t 9HTd PHR [Option ID = 1079654]

4) The area of Ranchi Industrial Area Development Authority, Ranchi (RIADA) is confined to which
of the following Commissionaire?

I Sitenfire &= faera miftrezur, I (sRemsTdive) &1 & Fufifad srumR @ 59 87 99 § Afa &2
[Question ID = 279461]

1. Kolhan Commissionaire / Wmﬂ? [Option ID = 1079656]

2. North Chotanagpur Commissionaire / 3TRI BICFRTIR HHITFR [Option ID = 1079657]

3. South Chotanagpur and Palamu Commissionaire / Gf&1 EﬂET:H’TER 3R U HHIRR [Option ID = 1079658]
4. Santhalpargana Commissionaire / ﬁmaﬂﬂw [Option ID = 1079659]

Correct Answer :-

« South Chotanagpur and Palamu Commissionaire / &f&0l BICHRTYR 3R TaT HHIRFR [Option ID =
1079658]

5) Rock Garden is located in which of the towns of Jharkhand?
P M FARWS & =1 el o fRya 82
[Question ID = 279462]

1. Ranchi / 3t [Option ID = 1079660]

2. Bokaro / S1&RI [Option ID = 1079661]

3. Latehar / @8R [Option ID = 1079662]

4. Jamsedpur / STHRIGYR [Option ID = 1079663]

Correct Answer :-
« Ranchi / I [Option ID = 1079660]

6) What is the average altitude of the land in Bokaro district?

deR) o # | Y sia Hars w82
[Question ID = 279463]

1. 210 metres from mean sea level. / Gﬁﬂﬁﬂﬂ?{ qd 9 210 Hie® [Option ID = 1079664]
2. 310 metres from mean sea level / 3gd HHg ol ¥ 310 Hiex [Option ID = 1079665]
3. 230 metres from mean sea level / 3gd g del ¥ 230 Hiex [Option ID = 1079666]
4. 120 metres from mean sea level / 3d T T J 120 Hiex BT g W [Option ID = 1079667]

Correct Answer :-
e 210 metres from mean sea level. / 3ga THg dd T 210 Hier [Option ID = 1079664]



7) What is the geographical area of Chatra District?

T forel &1 Hifers & = 22
[Question ID = 279464]

1. 3706 sq. km. / 3706 & T [Option ID = 1079668]
2. 1321 sq. km / 1321 & f&H} [Option ID = 1079669]
3. 6723 sq. km / 6723 ¥ &} [Option ID = 1079670]
4. 3421 sq. km / 3421 9 f&H} [Option ID = 1079671]

Correct Answer :-
« 3706 sq. km. / 3706 I faFHt [Option ID = 1079668]

8) The only place in India where the Jyotirlinga and the Saktipeeth are together is:-

HRA & UHHTE o118 2 Wei saifafef ok wifddts we |y 2:-
[Question ID = 279465]

1. Mahakal Temple / HgTTd HiGR [Option ID = 1079672]

2. Baidyanath Temple / ST HieR [Option ID = 1079673]

3. Mahakaleshwar Mandir / q’e’lﬂ»‘lﬁ%?ﬂﬁ? [Option ID = 1079674]
4. Shiv Shakti Mandir / @ =ifad dfex [Option ID = 1079675]

Correct Answer :-
« Baidyanath Temple / ST HfeR [Option ID = 1079673]

9) In which year Purbi Singhbhum district was formed?

fora ara qrat Rigay@ e &1 e fam war yr?
[Question ID = 279466]

1. 18t™ January 1991 / 18 SFaRT 1991 [Option ID = 1079676]
2. 16" January 1990 / 16 SHaRT 1990 [Option ID = 1079677]
3. 17t January 1989 / 17 SIHa! 1989 [Option ID = 1079678]
4. 20t Jaunary 2000 / 20 SHGE<T 2000 [Option ID = 1079679]

Correct Answer :-
« 16 January 1990 / 16 SHART 1990 [Option ID = 1079677]

10) In which year the district of Garhwa came into formation?
g af & Trgar foram 671 & frw smar yr?
[Question ID = 279467]

1. 15t April 1991 / 1 3/ 1991 [Option ID = 1079680]
2. 2" April 1992 / 2 30 1992 [Option ID = 1079681]
3. 3" April 1994 / 3 30 1994 [Option ID = 1079682]



4. 6% April 1995/ 6 3f0d, 1995 [Option ID = 1079683]

Correct Answer :-
« 15t April 1991 / 1 30 1991 [Option ID = 1079680]

11) The famous Grand Trunk Road also passes through which of the following districts of
Jharkhand?

RIE Uis ¢ A IR F fryg o | erdt 22
[Question ID = 279468]

1. Giridih / ik E1g [Option ID = 1079684]

2. Ranchi / X! [Option ID = 1079685]

3. Dhanbad / ¥-dlg [Option ID = 1079686]

4. West Singhbhum / 3% Rig¥H [Option ID = 1079687]

Correct Answer :-
« Giridih / TkSlg [Option ID = 1079684]

12) Where is the Godda district of Jharkhand situated?

FRES F Meer Rrar wei fRua 82
[Question ID = 279469]

1. North East of Jharkhand State / IRTS I F IR T:f [Option ID = 1079688]

2. South East of Jharkhand State / SIRTES T & afemr 11?1‘ [Option ID = 1079689]

3. North West of Jharkhand State / SIRTES T & IR UIEH [Option ID = 1079690]
4, South North of Jharkhand State / RIS I & &1 R [Option ID = 1079691]

Correct Answer :-
« North East of Jharkhand State / IRES I & IR 931‘ [Option ID = 1079688]

13) The Gumla District was carved out of which district?

T fore f6a o & s gan 82
[Question ID = 279470]

1. Ranchi / it [Option ID = 1079692]

2. Hazaribagh / ESINEIR [Option ID = 1079693]
3. Palamu / UdTH [Option ID = 1079694]

4. Latehar / @8R [Option ID = 1079695]

Correct Answer :-
« Ranchi / It [Option ID = 1079692]

14) After the creation of Jharkhand State which new district was carved out of Gumla district?



IRTES I & A & a1g e ford & &1 a1 74 e aearn T o
[Question ID = 279471]

1. Bokaro / SI®RI [Option ID = 1079696]

2. Palamu / UdiTH [Option ID = 1079697]

3. Simdega / e [Option ID = 1079698]
4. Ranchi / Xl [Option ID = 1079699]

Correct Answer :-
« Simdega / RIS [Option ID = 1079698]

15) What is the name of the Stadium which is the House of Jharkand Cricket Team?

39 RITTH $1 71 914 SN 189 3T FR@US fhdpe A 2:-
[Question ID = 279472]

1. JRD Tata Sports Complex / SRST eTeT F?ﬁ'c‘ﬂ PR [Option ID = 1079700]

2. Birsa Mund Stadium / fot 7us wfsan [Option ID = 1079701]

3. Keenam Stadium / f&f ¥ W &g [Option ID = 1079702]

4. JSCA International Stadium Complex / T ST Tfsgd uRIR [Option ID = 1079703]

Correct Answer :-

« JSCA International Stadium Complex / STUHHIT Se-¥Md WK STH TRIR [Option ID = 1079703]

16) Which district of Jharkand has highest population of Scheduled Castes?

FRTS FT S T e srggfra snfoal & a4 warer 82
[Question ID = 279473]

1. East Singhbhum / Ujﬁl’s’lﬂ:{ [Option ID = 1079704]
2. Simdega / RIAST [Option ID = 1079705]

3. Palamu / Ud¥H [Option ID = 1079706]

4. Bokaro / §I&RI [Option ID = 1079707]

Correct Answer :-
o Palamu / Ud¥ [Option ID = 1079706]

17) Among which of following is the purpose of establishment of Special Central Assistance (SCA)
for tribes?

fFafafaa & @ S 91 Seenfaal & foe v Sdta Temar (Tafie) # wireEr o1 38w 82
[Question ID = 279474]

1. Enhance political awareness / ISHIfA® SFRedar J q@ [Option ID = 1079708]

2. Enhance the socio-economic development / grAToIs-3fdfe fasra &1 §¢TU [Option ID = 1079709]
3. Improve Religious teachings / eTfHe fR1&msff & YR & [Option ID = 1079710]

4. All of these / Tt [Option ID = 1079711]



Correct Answer :-
« Enhance the socio-economic development / gTSTS-3fie faem 31 ¥¢IU [Option ID = 1079709]

18) How many Central Universities are in Jharkhand?
FREs | fHa bt fayfenea §2
[Question ID = 279475]

1.1/ T [Option ID = 1079712]
2.2/ @I [Option ID = 1079713]

3.3/ < [Option ID = 1079714]
4. 4 | IR [Option ID = 1079715]

Correct Answer :-
e 1/TU® [Option ID = 1079712]

19) What is the approximate percentage share of Iron ore reserves of Jharkhand with respect to
India’s total Iron ore reserves?

YR & $d A8 TP HSR & TaY N FRWS & g 3P SR o1 rATa ufersra fawan «an g2
[Question ID = 279476]

1. 22% / ¢l GRYE [Option ID = 1079716]

2. 25.7% / ¢l B13d Ulse Yad WRAT [Option ID = 1079717]
3. 35% / yf wT3a e [Option ID = 1079718]

4. 40% / BRC! U< [Option ID = 1079719]

Correct Answer :-

 25.7% / ¢¢l WI3d Ulec JYdd WRYE [Option ID = 1079717]

20) In 1857 movement, which Kabelai revolted against the Britishers in Palamu?

1857 ¥ fasis # vy # SRie & faew 5w waars A fasis foram ar?
[Question ID = 279477]

1. Chaire / iR [Option ID = 1079720]

2. Bhokta / HYaIT [Option ID = 1079721]

3. Khod / @IS [Option ID = 1079722]

4. None of these / 378 ¥ ®Ig )t 78T [Option ID = 1079723]

Correct Answer :-

« Bhokta / g [Option ID = 1079721]

21) The known melody of folk song at Chota Nagpur area of Jharkhand is:-

FRES F BleT ANGR &7 A A Hid &1 31 wifta w1 82



[Question ID = 279478]

1. Domkotch, Jhumar and Dandhara / @ﬂaﬁ?, ERR 3R T=RT [Option ID = 1079724]
2. Vivaha-Augnai / faarg -3t [Option ID = 1079725]

3. Both 1 and 2 / 1 3R 2 &I [Option ID = 1079726]

4. None of these / 378 T &g ) 78T [Option ID = 1079727]

Correct Answer :-
« Both 1 and 2/ 1 3R 2 3 [Option ID = 1079726]

22) Cultivation in dry area in Jharkhand is mainly

FRTS # P &7 § Well G371 =7 §:-
[Question ID = 279479]

1. Dry land cultivation / &t Yf& &1 Weft [Option ID = 1079728]

2. Irrigation by flood water / §T¢ & U & =g [Option ID = 1079729]
3. Canal Irrigation / &= T8 [Option ID = 1079730]

4. None of these / TR Y Eﬁ'sc ot &t [Option ID = 1079731]

Correct Answer :-
« Dry land cultivation / &t 4ff & Wdll [Option ID = 1079728]

23) The work of Hawker in tribal villages in Jharkhand is:-
YFRES & IMfeardt gl # gTp: BT P 8:-
[Question ID = 279480]

1. Bonded labourer / Ei’HGIT Hulgr [Option ID = 1079732]

2. To graze the animal / &R &I @R & T [Option ID = 1079733]

3. To give publicity to the information / TSGR ®I TAR ¢4 & forg [Option ID = 1079734]
4. None of these / 378 ¥ ®Ig ) 78T [Option ID = 1079735]

Correct Answer :-
» To give publicity to the information / SF®R &I TR ¢ & forg [Option ID = 1079734]

24) Which oil seed is produced in maximum quantity at Palamu?

oy #, FF W ad Ao sifreaw A # Iafed @2
[Question ID = 279481]

1. Caster Seed / ®1%eR &9l [Option ID = 1079736]
2. Sesamum / faa [Option ID = 1079737]

3. Linseed / 3feT &1 &S [Option ID = 1079738]
4, Mustard / war [Option ID = 1079739]

Correct Answer :-
« Sesamum / @ [Option ID = 1079737]



25) Integrated tribal development project is called:-

TPIpd ST e uRaisHT Sgard g:-
[Question ID = 279482]

1. Meso Project / Al Ulside [Option ID = 1079740]

2. Tribal sub project / SIS ¥U URTSHT [Option ID = 1079741]

3. Rural integration project / Iror T TR GRS [Option ID = 1079742]
4. None of these / 378 ¥ ®Ig +} 78T [Option ID = 1079743]

Correct Answer :-
» Meso Project / ! gioide [Option ID = 1079740]

26) Aundi song is sung on the occasion of

it fa &1 & TE U T 1T 2|
[Question ID = 279483]

1. Spring / 9d [Option ID = 1079744]

2. Marriage / R4l [Option ID = 1079745]

3. Sowing Dhan / mﬁ?ga'rs‘ [Option ID = 1079746]

4. None of these / 378 ¥ B3 +}t &1 [Option ID = 1079747]

Correct Answer :-
« Marriage / Q1! [Option ID = 1079745]

27) What do Mundas keep in Sasas?
ST 9T # 1 39 d 82
[Question ID = 279484]

1. Animals / STF&R] [Option ID = 1079748]

2. Food / IS [Option ID = 1079749]

3. Bones of their ancestors / 37 gasii @1 gigdi [Option ID = 1079750]
4. None of these / 379 ¥ @3 +t 781 [Option ID = 1079751]

Correct Answer :-

« Bones of their ancestors / 3% dull &I gfgdt [Option ID = 1079750]

28) Which of the following tribes indulged in the revolt of 1831 against the Britishers?

3 F faeg 1831 & fagie # A fHw w=wnfa &1 SRR Ifie ur?
[Question ID = 279485]

1. Hoo / § [Option ID = 1079752]
2. Munda / §&T [Option ID = 1079753]
3. All of these / SWR & THT [Option ID = 1079754]



4. None of the these / 378 ¥ &3 +}t AT [Option ID = 1079755]

Correct Answer :-
o All of these / SR & THT [Option ID = 1079754]

29) TISCO receives its iron ore supplies from which of the following mines?

e w1 frufafaa @l & @ o @ de s ot smyfd ura @)t 82
[Question ID = 279486]

1. Baba Budan / 9141 & [Option ID = 1079756]
2. Noamundi / gt [Option ID = 1079757]

3. Bella Dellah / 9T ¢eaTg [Option ID = 1079758]
4. Keonjhaar / B31IR [Option ID = 1079759]

Correct Answer :-
« Noamundi / A1g=dl [Option ID = 1079757]

30) Which of the following religion people come to Parsnath hill as pilgrims?

fFrrafafaa § @ o9 9 v & a Rl & Fu § REY e ) o 82
[Question ID = 279487]

1. Hindu / fg=g [Option ID = 1079760]

2. Muslim / YHTA [Option ID = 1079761]
3. Jain / S [Option ID = 1079762]

4. Christians / 397341 [Option ID = 1079763]

Correct Answer :-
« Jain / S [Option ID = 1079762]

Topic:- Set05_MANnLR

1) Which of the following days of the week shall appear third from last in an ordinary English
dictionary?

e & g foa # @ @19 91 feT v IurRur SRish v 7 Sifaw | e fears 3m? [Question ID =
281331]

1. Saturday / AR [Option ID = 1088463]
2. Sunday / XfAaR [Option ID = 1088464]

3. Tuesday / TSGR [Option ID = 1088466]
4. Thursday / [¥dR [Option ID = 1088468]

Correct Answer :-
e Thursday / T[®dRR [Option ID = 1088468]



Arrange the following is a logical sequence.

a. Milli
b. Deci
c. Centi
d. Nano

At g A Frafifad o srafeud #4|

U. foreett
&, =i
. IFd
3}, A9 [Question ID = 281332]

1. dbac [Option ID = 1088471]
2. dacb [Option ID = 1088473]
3. adcb [Option ID = 1088475]
4. dabc [Option ID = 1088477]

Correct Answer :-
» dacb [Option ID = 1088473]

3) Eras was born on 15t February, 2016 at exact 12 AM, how many hours old would he be when the
month ends?

TR T S0 1 BRART, 028 Bl R Tof HEIP 3T, T HIH AT B ITT T af 98 fobar=t 6 &1 ghm?
[Question ID = 281335]

1. 696 [Option ID = 1088480]
2. 672 [Option ID = 1088483]
3. 384 [Option ID = 1088485]
4. 720 [Option ID = 1088486]

Correct Answer :-
e 696 [Option ID = 1088480]

4) Ginni and Gummy are walking towards one another, if Gummy's right hand is towards the North,
then Ginni's back is towards which of the following directions ?

el 3R Tl T R Pt R gH ) §, IR T BT SR g1Y IWR Bt RG ¢, a Ft B e 3 Remmei @
frafemmd g2

[Question ID = 281336]

1. South / Gf&0T [Option ID = 1088489]
2. West / Uf& [Option ID = 1088490]
3. East / Jd [Option ID = 1088491]

4. North / 3R [Option ID = 1088493]

Correct Answer :-
« West / Gf3H [Option ID = 1088490]



5) A maximum of how many days can come for 5 times in a calendar month?

Fais? are # Y AT fvan fa7 3 WP 82 [Question ID = 281339]

1. 1 [Option ID = 1088503]
2. 2 [Option ID = 1088504]
3. 3 [Option ID = 1088505]
4. 4 [Option ID = 1088506]

Correct Answer :-
» 3 [Option ID = 1088505]

6) What number can be the biggest difference between two four digit numbers if the smallest four
digit number does not end with zero?

IR 3] arell & WS & S & 3R arell Had 981 =T T 8l APl ¢ dfc Jad DIt T SRy & T@H
81 8Id1? [Question ID = 281340]

1. 4567 [Option ID = 1088507]
2. 8999 [Option ID = 1088510]
3. 1111 [Option ID = 1088512]
4. 8998 [Option ID = 1088514]

Correct Answer :-
e 8998 [Option ID = 1088514]

7) How many times would 4 appear while writing all the numbers from 1 to 100?

19 100 9% 3i®| P foraa THY 4 fHa-t IR ST ? [Question ID = 281343]

1. 19 [Option ID = 1088516]
2. 20 [Option ID = 1088518]
3. 14 [Option ID = 1088520]
4. 16 [Option ID = 1088522]

Correct Answer :-
e 20 [Option ID = 1088518]

8) If:

J * W means J is the father of W,

J - W means J is the sister of W,

J # W means J is the wife of W,

J & W means that J is the son of W,

then

M - N # F * C shall mean which of the following?

3R :
I*WaHTAFgIWHT TR,
J-waafgiIwsagT e,
I#WBTHITIWSBIUA T,
JawaTafgfFIwaiser e,



ar
fFrafaf@a d ¥ M - N # F * ¢ &1 31 &1 8111 ? [Question ID = 281344]

1. N is brother of M / T TH @7 HT$ & [Option ID = 1088525]
2. Fis husband of N / T T Wtﬁﬁ% [Option ID = 1088527]
3. Cis father of F / I} T% o1 fidr 8 [Option ID = 1088529]

4. Cis father of N / Tt T &1 fidT g [Option ID = 1088531]

Correct Answer :-
e Fis husband of N / Tth U &I a3 [Option ID = 1088527]

9) If

Anmrit is the brother of Biswas,

Cawas is the father of Amrit,

Dilbar is the brother of Emarti and Emarti is the daugher of Biswas,
then

Biswas is related to Cawas as which of the following relation of his?

gfe

3 fawar &1 WS §,

@ Sraw omd BT AT R,
%:awsmﬁm%%ﬁsnﬁﬁwm%é‘&%}

frafafea # 4 foarg $1a9 ¥ $9 HdfUd 82 [Question ID = 281347]

1. Father / fOdT [Option ID = 1088535]

2. Brother / HT3 [Option ID = 1088536]

3. Nephew / HdTSTT [Option ID = 1088538]
4. Son / ST [Option ID = 1088540]

Correct Answer :-
« Son / ¥l [Option ID = 1088540]

10) Find the missing number in the given series:
8142372

3t 15 e ° arar e @it

: 8 14 23? [Question ID = 281348]
1. 35 [Option ID = 1088543]

2. 44 [Option ID = 1088544]

3. 24 [Option ID = 1088546]
4. 32 [Option ID = 1088549]

Correct Answer :-
e 35 [Option ID = 1088543]

11) Leena and Ravi have taken the same number of photos on their college trip. Leena has taken
three times as many photos as Chanchal and Ravi has taken twelve more photos than Chanchal. How
many photos has Chanchal taken?

T 3R T 7 U9 PHia g W RIER GBI & iy ot 81 A1 2 g9d & ghrad i o avdis ot § iR
A A dua B gaT A IR TN ARF ot &1 = A fran I &2 [Question ID = 281351]



1. 6 [Option ID = 1088553]

2. 12 [Option ID = 1088554]
3. 15 [Option ID = 1088556]
4. 20 [Option ID = 1088558]

Correct Answer :-
e 6 [Option ID = 1088553]

12) 1f Ravi writes 15t half letters of the English alphabet in reverse order, then find out which letter
will be the 7t letter to the left the 10" letter from his right?

uﬁﬁ%aﬁm%wﬁmﬁa&mmﬁm%ﬁw%mﬁmﬁ 10 & R ¥ 7 a1 9uf SiA-
1 8N?

[Question ID = 281352]

1. B [Option ID = 1088561]
2. F [Option ID = 1088563]
3. D [Option ID = 1088565]
4. G [Option ID = 1088567]

Correct Answer :-
o D [Option ID = 1088565]

13) When in the word 'TRANSLATION' the 15t, 2"d and 3" |etters are interchanged with 7th, 8th and

9th |etters respectively then which letter will be at the fifth place to the ninth letter from the right of
word?

'TRANSLATION' X% H U8, G&Y, 3R R I & quf &t oz 7 9, 8 9, 3R 9 F ®I & qui & Srgel-
ool B W gt iR | 9 o quf A uiwd ®ITH WR #19 I1 9uf W2 [Question ID = 281354]

1. S [Option ID = 1088570]
2. A [Option ID = 1088572]
3. R [Option ID = 1088574]
4. I [Option ID = 1088576]

Correct Answer :-
e R [Option ID = 1088574]

14) Find the alternatives in which the number of skipped letter in the series is two in between the
adjacent letters.

feu 7u famedl & 9 39 faweu & uga= I Soraw quit & A9 T G1-3) 9ulf ST geT f&aT T 21
[Question ID = 281357]

1. GIMPS [Option ID = 1088580]
2. HORSW [Option ID = 1088582]
3. LNPSV [Option ID = 1088584]
4. FHKLO [Option ID = 1088586]



Correct Answer :-
e GIMPS [Option ID = 1088580]

15) Which one set of letters when sequentially placed at the gaps in the given letter series shall
complete it?

A2 & S auf e A frga =il wR 5 auf T9g @) wie T F 7@ W §gar guf gifiz
abca_bcaab_ca_bbc_a
[Question ID = 281358]

1. ccaa [Option ID = 1088588]
2. bbaa [Option ID = 1088589]
3. abac [Option ID = 1088591]
4. abba [Option ID = 1088593]

Correct Answer :-
» abac [Option ID = 1088591]

16) Seven individuals are standing in a row in a march past. B is standing left to C but right to A. F is
standing right to E and left to A. Similarly, D is standing right to C and left to H. Find out who is
standing in middle?

ITd Afed T UferT # A URe & @S €, &t It # arfl iR au1 T F Srfl 3R 81 U § Y St 3R aur T Ft
Tt 3R 31 33t U St 3t F gl 3R Ut vu F IrfY 3R 21 uar #¥ fF i & #19 @ST1 82 [Question ID
= 281361]

1. A/T [Option ID = 1088599]
2. B/l [Option ID = 1088601]
3. C/31 [Option ID = 1088603]
4. F/U% [Option ID = 1088605]

Correct Answer :-
« Bydl [Option ID = 1088601]

17) Read the conclusion given below. Choose which of the conclusions given logically follows from
the two given statements, disregarding commonly known facts.

Statements:

Some fruits are oranges.
All oranges are grapes.
No grape is a peach.

Conclusions:
I. All grapes are fruits.
I1. Some grapes are fruits.

i fer e frepd ud SR M FYUAl & SMUR IR ahiTTd U A fau ¢ fAswuf &t g, St amar=ua: g1d aal
B SRAPR P &

faa=or:



PO B Gl o
Tl Ja¥ 3R 1

e

LOf SRR Ba g1

1| $ 3R B &
[Question ID = 281362]

1. Only I follows / Fad I IIFJ% [Option ID = 1088606]

2. Only II follows / 3dd II A g [Option ID = 1088608]

3. Either I or II follows / a1 a1 R 11 7= % [Option ID = 1088610]
4. Neither I nor II follows / 7 @ I 3R 9 II A1 g [Option ID = 1088612]

Correct Answer :-
e Only II follows / &ad 11 99 § [Option ID = 1088608]

18) In the following words, certain pairs of words are given, out of which the words in all pairs
except one, bear a certain common relationship. Choose the pair in which the words are differently
related.

T T g gt F @ FiF e T & Tael F SMUR THM § Safh 9 Weg T BT YR 1 i F i 31
i SMYR aTet Teg T F1 Uga Pifog|

[Question ID = 281365]

1. Class:Student [Option ID = 1088616]

2. Sentence:Words [Option ID = 1088617]
3. Tree:Forest [Option ID = 1088619]

4. Hour:Minutes [Option ID = 1088621]

Correct Answer :-
e Tree:Forest [Option ID = 1088619]

19) Rahul was sitting in a park. He observes that a smart person with a suitcase comes on a bike
and leaves the suitcase there and goes away. What should be done by Rahul in such a situation?

G TP UTH | F3T Y11 9 IYP! ok TP I3 IaR W USdl 31 TP U U ey ¢ o a8 a8l
BlsHR IaT oraT 31 W fRufa # IHS 71 H1 =nfew?

[Question ID = 281366]

1. run and chase the person. / 31 fad &1 UIST &A1 a6y [Option ID = 1088624]

2. immediately inform the police at the nearby station or booth. / ORI & U a1 §4 TR Yfd &A1 1T [Option ID
= 1088626]

3. shout and call back the person. / 39 fed &1 oy EEIEI ElIRY [Option ID = 1088628]

4. ignore and remain busy in your enjoyment. / ITDT IUEH B 30+ HH H T g1 A1y [Option ID =
1088630]

Correct Answer :-

« immediately inform the police at the nearby station or booth. / TR & U a1 § TR JfeId H=1 AT [Option
ID = 1088626]



20) Choose the odd word from the given alternatives.

fau U fdwew | 3renT 2eg G| [Question ID = 281403]

1. Spoon / IHd [Option ID = 1088808]
2. Fork / &TcT [Option ID = 1088809]
3. Hand / 1Y [Option ID = 1088810]
4. Knife / dI% [Option ID = 1088811]

Correct Answer :-
e Hand / 814 [Option ID = 1088810]

Topic:- Set05_Math

1) The volume of a right triangular prism is 785.4 cc. Height of the prism is 14 cm. Calculate the
area of its base.

T I vy fisq &1 smaa+ 785.4 79 9 g1 e &t S8 14 I 81 3T SMUR & AABd P TUET
P3| [Question ID = 279518]

1. 50 sq cm / 50 o I [Option ID = 1079884]
2.55sqcm /55 aif qeft [Option ID = 1079885]
3. 56.1 sq cm / 56.1 @ I [Option ID = 1079886]
4. 58 sq cm / 58 T YUY [Option ID = 1079887]

Correct Answer :-
e 56.1sqcm/ 56.1 aif It [Option ID = 1079886]

2) Express 0.255 as a rational number in the form of A/B.

0.255 ®1 A/B & =0 # TP URUY BT & IR W S| [Question ID = 279519]

1. 51/200 [Option ID = 1079888]
2. 1/20 [Option ID = 1079889]

3. 50/201 [Option ID = 1079890]
4. 51/201 [Option ID = 1079891]

Correct Answer :-
e 51/200 [Option ID = 1079888]

3) Which of the followings are rational numbers between 1 and 2?

Frafafaa & 1 iR 2 ¥ dig o1 ufdy gt o= @t 82
[Question ID = 279520]

1. 1) 3/2 [Option ID = 1079892]

2. 2) 7/4 [Option ID = 1079893]

3. 3) 9/16 [Option ID = 1079894]

4. 4) Both (1) & (2) / (1) 3R (2) 1 [Option ID = 1079895]



Correct Answer :-
e 4)Both (1) & (2)/ (1) 3R (2) ol [Option ID = 1079895]

4) Which of the following is an irrational number between 2 and 3?

fafafaa & 2 ot 3 F 99 #) ¥y I 19 @ 82
[Question ID = 279521]

1. 1) 5/2 [Option ID = 1079896]

2. 2) 2.75 [Option ID = 1079897]

3. 3) V6 [Option ID = 1079898]

4. 4) Both (2) & (3) /(2) 3R (3) GHI [Option ID = 1079899]

Correct Answer :-
 3) V6 [Option ID = 1079898]

5) The expression 2x5 — 32x is divisible by, which of the following expression?

Ug 2x5 - 32x Pl § @ #19 4 ue grRT fAusa 2

[Question ID = 279522]

1. (x2 + 5) [Option ID = 1079900]
2. (x2 + 4) [Option ID = 1079901]
3. (x + 5) [Option ID = 1079902]
4. (x - 3) [Option ID = 1079903]

Correct Answer :-
« (x2 + 4) [Option ID = 1079901]

6) If A: B = 2: 3; find the ratio (6A + 5B) : (3A + 17B).

af¢ A: B = 2: 3, @ 3UTd (6A + 5B) : (3A + 17B) WIS | [Question ID = 279523]

1. 8 : 19 [Option ID = 1079904]
2.19 : 9 [Option ID = 1079905]
3.9: 19 [Option ID = 1079906]
4.9 : 13 [Option ID = 1079907]

Correct Answer :-
e 9:19 [Option ID = 1079906]

7) The sum of two numbers is 24 and their difference is 2. Find the ratio between the two numbers
assuming that the first term is greater than the second.

ggwaﬁmzﬁwu%aﬁvwamz%lww%wﬁmmmﬁﬁﬁmm
[

[Question ID = 279524]



1. 26/11 [Option ID = 1079908]
2. 13/11 [Option ID = 1079909]
3. 13/22 [Option ID = 1079910]
4. 17/19 [Option ID = 1079911]

Correct Answer :-
e 13/11 [Option ID = 1079909]

8) Find the fourth proportional of 30, 50 and 60.

30, 50 3fiX 60 BT FIUT ATIUTIP Wil | [Question ID = 279525]

1. 120 [Option ID = 1079912]
2. 100 [Option ID = 1079913]
3. 300 [Option ID = 1079914]
4. 95 [Option ID = 1079915]

Correct Answer :-
« 100 [Option ID = 1079913]

9) Which of the followings are the rational numbers between 4 and 5?

frafafea # 4 o 5 & = F) ufvdg Tt F19 2 [Question ID = 279526]

1. 17/4 [Option ID = 1079916]

2. 35/8 [Option ID = 1079917]

3. 9/2 [Option ID = 1079918]

4. All of these / ITRIad Tt [Option ID = 1079919]

Correct Answer :-
« All of these / STRIad 4T [Option ID = 1079919]

10) What kind of number is 6 + (2)1/2?

6 + (2)1/2 {59 UPR &} H-IT 82 [Question ID = 279527]

1. Rational / IR¥T [Option ID = 1079920]

2. Irrational / SURIg [Option ID = 1079921]
3. Recurring / &ﬁ?ﬁ[Option ID = 1079922]
4. Complex / Sifed [Option ID = 1079923]

Correct Answer :-
« Irrational / 3[UR¥T [Option ID = 1079921]

11) Find the value of x such that | x—-3]| = 8.
X 1 ™ Wi, d1fd |x -3| = 8 &l
[Question ID = 279528]

1. 1) 11 [Option ID = 1079924]
2. 2) - 5 [Option ID = 1079925]



3. 3) Both (1) & (2) / (1) 3iR (2) S [Option ID = 1079926]
4. 4) Only (1) / Pad (1) [Option ID = 1079927]

Correct Answer :-
e 3)Both (1) & (2)/ (1) 3R (2) ol [Option ID = 1079926]

12) which of the following expression can divide x*+x2 + 1, without leaving any remainder?

frafafea # @ o9 91 16, 1 A9 Ba & x4 + x2 + 1 B fAUa & goar g2

[Question ID = 279529]

1. (x2 + x + 1) [Option ID = 1079928]
2. (x2 - x - 1) [Option ID = 1079929]

3. (2x% + x + 1) [Option ID = 1079930]
4. (x2 + x + 2) [Option ID = 1079931]

Correct Answer :-
o (X% + x + 1) [Option ID = 1079928]

13) Which of the following is a zero of the polynomial (x2 + 6x + 25)?

fFafafaa % 9gug (x2 + 6x + 25) BT [ B AT 7?2
[Question ID = 279530]

.- 3 [Option ID = 1079932]
. - 2 [Option ID = 1079933]

. 2 [Option ID = 1079934]

. None of these / 378 ¥ 15 -Tgl [Option ID = 1079935]

D WN -~

Correct Answer :-
« None of these / 371 9 PIs Tal [Option ID = 1079935]

14) Find the value of k so that (x + 1) and (x — 1) are factors of (x4 + kx3 + 2x2 — 3x + q).

k &1 U1 T i, fora (x + 1) 8iR (x - 1), (x4 + kx3 + 2x2 — 3x + q) & UGS &l
[Question ID = 279531]

. - 3 [Option ID = 1079936]
. 3 [Option ID = 1079937]
. 2 [Option ID = 1079938]
. - 2 [Option ID = 1079939]

N W N =

Correct Answer :-
e 3 [Option ID = 1079937]

15) If A = {1, 2, 3} and some terms of A x B are (1, 4), (2, 5), (3, 4) and n(A x B) = 6; then what is
set B?



afe A ={1, 2, 3} 3R A x B & $S UM (1, 4),(2, 5),(3,4) 30 n(A x B) =6 &; df A< B HT FT &2 [Question
ID = 279532]

1. {4, 5} [Option ID = 1079940]

2. {1, 4, 5} [Option ID = 1079941]
3.{1, 2, 3} [Option ID = 1079942]
4. {2, 3} [Option ID = 1079943]
Correct Answer :-

» {4, 5} [Option ID = 1079940]

16) A train 330 metres in length travels at 60 km/hr. In what time will it pass a man who is walking
at 6 km/hr in the same direction?

TS o &1 ataTs 330 HieX 8 oY 60fFartier ufd 4 & a¥ W AW 99 vl 8 | a9 9aH fezn & 6 fpanfter
Ufd 5¢ | Ia- 9T TP SATGH Bt IR HA § IAD! fha-11 90 ahm?

[Question ID = 279533]

1.5 sec /5 s [Option ID = 1079944]
2.6sec/6 s [Option ID = 1079945]
3. 4 sec / 4 Y& [Option ID = 1079946]
4.7 sec / 7 ¥&S [Option ID = 1079947]

Correct Answer :-
e 65ec/6dHS [Option ID = 1079945]

17) If A can do a work in 10 days, B can do a work in 12 days and C can do a work in 15 days. In
how many days will the work be completed if they all work together?

YREAPH B 10 AN A PR APAE IR BITPH B 12 AN A PR TPaAT 8 SR CIT P B 15 A T HR
a1 8| 3R d T AP $TH Hd § ot F18 &1 guf g4 | fpa= f& e

[Question ID = 279534]

1. 1 [Option ID = 1079948]
2. 2 [Option ID = 1079949]
3. 4 [Option ID = 1079950]
4. 5 [Option ID = 1079951]

Correct Answer :-
e 4 [Option ID = 1079950]

18) The distance between two pillars 35 ft and 50 ft high is 20ft. Find the distance between their
vertices.

35 Wi 3R 50WIe F 3f T & o9 t gt 20 Wie §| a@F 37 Mol & v it gif FeE|
[Question ID = 279535]

1. 25 ft / 25 WIc [Option ID = 1079952]



2. 30 ft / 30 ®IC [Option ID = 1079953]
3.22.5 ft / 22.5 WIc [Option ID = 1079954]
4. 20 ft / 20 WIC [Option ID = 1079955]

Correct Answer :-
« 25 ft/ 25 WIc [Option ID = 1079952]

19) If a pipe can fill a cistern in 15 hours and another pipe can empty a cistern in 10 hours. In how
many hours will the cistern be completely full if both the pipes are opened together?

Ife U UTSU ¢ D) 15 G H U Tbdl & 3R TP 37 UISY ¢ P 10 G & Wrell &Y bl ¢ | afe 41 urgy
DI 91y ¥ G 31 91 dt €t I @vE & fhae gel § WR A

[Question ID = 279536]

1. 25 hours / 25 €< [Option ID = 1079956]
2. 32 hours / 32 ©¢ [Option ID = 1079957]
3. 30 hours / 30 He [Option ID = 1079958]
4. 28 hours / 28 ©¢ [Option ID = 1079959]

Correct Answer :-
« 30 hours / 30 ©¢ [Option ID = 1079958]

20) Gargi spent 12.5% of her money. After spending 75% of the balance, she had Rs. 17,500 with
her. How much money she have in the beginning?

TR 9 = A A A 12.5% T T U1 A9 AR F 75% T B4 F 916 3T U 17,500 T 92|
&3 H I9P U fraq 49 g

[Question ID = 279537]

1. 75000 [Option ID = 1079960]
2. 80000 [Option ID = 1079961]
3. 90000 [Option ID = 1079962]
4. 100000 [Option ID = 1079963]

Correct Answer :-
» 80000 [Option ID = 1079961]



